If we want to compare
irrational numbers, it's easiest

to use approximation. ~N
AND STILL ACCURATE ENOUGHI

There is a special irrational

number called x. 1t is the Greek
letter pf and is read like “pie.”
The value of pi is 3.14159265...

but is commonly rounded to 3.14.
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EXAMPLE:  \which is larger? b or Zx?

Because X is approximately 3.14, it means that Zx
is approximately Z X 5.14 = (.28

x>0

The square root of o perfect square is easy to find, like
V4 = 3. 8ut we can also find the approximate values of
numbers like VZ or V10 by "working backward



EXANPLE: \Which s larger, V5 or 2.17

First, we need to find ovt what is the approximate valve of
V5 to the tenth decimal ploce.

we know that 15=1 22=4 3t=19 = MEANS
or V1=1V4=2 V=3 AP AL

/

So, V5 must be between Z and 3. therefore, V5 =2

The question asks us To compare the approximate valve with o
number that has a value in the tenth place, so we can then fry:

20t=4121t=4412122=484 12.3%=5121

So, ‘V'5_'mus’r be between 2.7 and 2.3, but it's closer +o
2.2 therefore, V5 2.2,

Therefore V5 is larger than Z.1.

If you needed to find out what is the approximate value
0f V5 to the hundredth decimal place, yov wovld just repeat
the process of "working backward and fry:

L.21*=48841, .22* = 49284 ... and so on until you

found the closest approximation.
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@& CHECK vour (L(YOLLERCE

1. Calcvlate Zx. Round your answer to the hundredth decimal place.
2. Calcvlate 5. Round your answer to the hundredth decimal place.
3. Colwlate =37 Round your answer to the hundredth decimal ploce.
9. Colcvlote % 7. Round your answer to the hundredth decimal place.
2. \whatis the approximate valve of ﬁh} the tenth decimal ploce?

6. ‘w/hatisthe approximote valve of 'M’{:Jm the tenth decimal place?

1. ‘whatis the opproximote valve of '\/EJHJ the hundredth decimal
place?

8. ‘Whatis the approximate volve of V'S_Jrcr the hundredth decimal
ploce?

9. Which is the largest number: V10, , or 37

10. Drow a number line and ploce the following numbers in the

correct location: =3, 0,1, =, V5

ANSWERS 217



CWECK Your QIUSWERS

1. 628

2. 15
3. 942
4. 157

5. V3s11
6. Ve=24
1 Visia
‘5. V58224

9. The largest number is m

gl ! 0 1 V52224 w=314 |
f NN

-4-3-2-101234/




